
 

 

REASONING QUIZ 
 

Q.1. 1, 2, 3, 10, ?, 9802 

(A) 99     

(B) 199 

(C) 299   

(D) 999 

ANSWER: A 

 

Direction: Three of the words will be in the same classification, the remaining one will not be. Your answer will 

be the one word that does NOT belong in the same classification as the others. 

Q.2. Which word does NOT belong with the others? 

(A) inch 

(B) ounce 

(C) centimeter 

(D) yard 

ANSWER: B 

 

Q.3. In a certain code language, 

'134' means 'good and tasty'; 

'478' means 'see good pictures'  and 

'729' means 'pictures are faint'. 

Which of the following digits stands for 'see'? 

(A) 9        

(B) 2 

(C) 1        

(D) 8 

ANSWER: D 

 

Direction: Three of the words will be in the same classification, the remaining one will not be. Your answer will 

be the one word that does NOT belong in the same classification as the others. 

Q.4.Which word does NOT belong with the others? 

(A) tyre 

(B) steering wheel 

(C) engine 

(D) car 

ANSWER: D 

 

Q.5. Vaunt : Flaunt :: Disparate : ? 

(A) Similar             

(B) Homogenous 

(C) Contrast         

(D) Alike 

ANSWER: C 

 

Direction: Three of the words will be in the same classification, the remaining one will not be. Your answer will 

be the one word that does NOT belong in the same classification as the others. 

Q.6.Which word does NOT belong with the others? 

(A) tulip 



 

 

(B) rose 

(C) bud 

(D) daisy 

ANSWER: C 

 

Q.7. Sam ranked 9th from the top and 38th from the bottom in a class. How many students are there in the 

class ? 

A) 45       

B) 47 

C) 46       

D) 50 

ANSWER: C 

 

Direction: Three of the words will be in the same classification, the remaining one will not be. Your answer will 

be the one word that does NOT belong in the same classification as the others. 

Q.8.Which word does NOT belong with the others? 

(A) rye 

(B) sourdough 

(C) pumpernickel 

(D) loaf 

ANSWER: A 

 

Q.19. 583 is related to 293 in the same way as 488 is related to____ 

A) 291     

B) 378 

C) 487     

D) 581 

ANSWER: B 

 

Direction:  There are 8 houses in a line and in each house only one boy lives with the  

conditions as given below: 

1.Jack is not the neighbour Siman. 

2. Harry is just next to the left of Larry. 

3.There is at least one to the left of Larry. 

4.Paul lives in one of the two houses in the middle. 

5.Mike lives in between Paul and Larry. 

Q.10.If at least one lives to the right of Robert and Harry is not between Taud and Larry, then which one of the 

following statement is not correct? 

(A) Robert is not at the left end. 

(B) Robert is in between Simon and Taud. 

(C) Taud is in between Paul and Jack. 

(D) There are three persons to the right of Paul. 

ANSWER: C 


